
fail

fail

failH=[2,1]

H=[a]

egyszer([2,1,1],H0).

X2=2, L2=[1,1], H2=H0

egyszer2

lista(L0), egyszer(L0,H0).

lista2

[2,1,1]=L0

egyszer2

member(1,[1]), !, egyszer([1],H2).

egyszer([1],H2).

member(1,[]), !, egyszer([],H2).

X6=1, L6=[], [1|H6]=H2X6=1, L6=[], H6=H2

egyszer2

member2

E4=1, L4=[1]

egyszer([],H6)

egyszer1

H6=[]

.

!, egyszer([1],H2).

E4=1
member1

X3=1, L3=[1], [1|H3]=H2

egyszer3

egyszer([1,1],H2)

egyszer3

X2=2, L2=[1,1], [2|H2]=H0

C U T

egyszer([a,a,a],H0).

egyszer2

X2=a, L2=[a,a], H2=H0

E3=a

lista3

[a,a,a]=L0

member(2,[1,1]), !, egyszer([1,1],H0).

egyszer([1,1],H0).
member(2,[1]), !,

E3=2, L3=[1]

member2

E4=2, L4=[]

member(2,[]), !,
egyszer([1,1],H0).

member2

X3=1, L3=[1], H3=H2

egyszer3

!, egyszer([a,a],H0).

X5=a, L5=[a], H5=H0

egyszer2

member1

member1

E6=a

!, egyszer([a],H0).

egyszer2

X8=a, L8=[], H8=H0

member(a,[]), !, egyszer([],H0).

egyszer3

X8=a, L8=[], [a|H8]=H0

.

member2

E3=a, L3=[a]

C U T

X5=a, L5=[a], [a|H5]=H0

[]=H8

egyszer([],H8).

egyszer1

egyszer3

X2=a, L2=[a,a], [a|H2]=H0

egyszer3

C U T

member2

E5=a, L5=[]

C U T

C U Tmember(a,[a]), !, egyszer([a],H0).

member(a,[a,a]), !, egyszer([a,a],H0).

C U T

egyszer([a,a],H0).

egyszer([a],H0).

egyszer2: egyszer([X|L],H):- member(X,L),!,egyszer(L,H).

lista1: lista([]).
lista2: lista([2,1,1]).
lista3: lista([a,a,a]).

?- lista(L), egyszer(L,H).

egyszer3: egyszer([X|L]),[X|H]):- egyszer(L,H).

egyszer1: egyszer([],[]).
member2: member(E,[ |L]):- member(E,L).
member1: member(E,[E| ]).

Ábra: Szörényi Balázs, 2005

[]=L0

lista1

egyszer([],H0).

egyszer1

H0=[]

.

H=[]


